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21, Maria ouned an annity. When she disd, th present value of uture payments was included in hr gross estate.
Whst does that el s bout her anmuity?

0 2. The payments cessed at deah

0 5. Tha payments contnued to 2 enefisary.

0 . Tha ity was pad from an IRA.

0 . Tha ity was pa from 3 quaified retvement plan.

2. Kevin owned 3 e insurance policy on is brother, Bob. When Kevin disd, what was includible in his gross
ssise?

€ 5. Toefar ket vaue of he iy
€ 5 Toe et rocssss

€ o face vae o te poicy

0 . Notring he pofcy passes drectly to Bob and avoidsichusion n Kevin's esate

23.Linda owned some undeveloped property near the edge of toun she valusd 3t $500 per cre. A developer
interested in builing 2 subdivision ofered her $4000 per cre, but she s31d no. She dled shorly thereafer. How
will e property be valued for the purposes of her gross estte?

© 23400 peracre

© 5 s per o

© o 5350 persore

© 43420 peraore

24 Regarding buy-ell sgreements for closely hld companies, which of the ollowing is not one o the rules
created by scoumuiated case aw?

€ 5. Tos st mustbe sboued o i ont e cossly hed stosk f desved
05, The sk pie st be fied by the agreemen (thr dolar amount or formul).

0 . The agreement must poniit an owner from seling i o ber ntrest during e without st offering 1 he
business or e otherouners atthepric specified i e agreemnt.

€6 Toe price sat m the sareemant st have been far and sdequate 3t 1 Bme e sgresment wss made.

25. At th time o his desth, Juan ovined 3 home with 2 property tax assessed value of $200.000 and 3 current market
value of $480.000. 50,000 remained on his morigage. How much will be ncluded in his gross estate?

0 2,550,000 (the amount of his mortgage)

© 5 5200,000 (e propeny tax assessed vake]

€ 520,000 (theproparty tax assessed vale minus he fa market vale)

0 4. $160,000 (b fair market value), but with 2 deuction for the amount of the morgage

25 James leaves his ke house to is e, Ellen, but oy for 25 long 35 she remains unmarried aftr s death. If
i remarries. th property will pass to James”brother, Alex. Which of he ollowing ststements bout this itustion
et

€ 5. Elen s 3 teminais ntrest it ke e,
© 5. Termiabie intress generay do not qualfy or the martal deduction

0 . Elons intrest nthe proprty does ot qualy orthe maral deduction because she could kse the ake house f 3
pariur futre svent (s remariags) ooeurs.

10 Elers inrest nthe proprty ' considered  “qualfie arminaleinfrest because s 2 ftime ncome nerest.
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0 4 $160,090 (b fa ket vaue), but with 2 deduction for the amount o th morgage

25, James leaves his Iske house o his wife, Ellen, butonly for 3 long a5 she remains unmarred afe his deat. If
she remarres, the property willpass to ames' brother, Alex. ihich of the following statements about hs situation
et

€ 5. Elen s 3 teminais ntrest it ke e,
© 5. Terminabieinteress ganeray o not quafy for te martl deduotion

0 . Elons intrest nthe proprty does ot qualy orthe maral deduction because she could kse the ake house f 3
s futre event (s remariage) sseurs

10 Elers inrest nthe proprty ' considered  “qualfie arminaleinfrest because s 2 ftime ncome nerest.

27_Peter and Karen were married 40 years when Karen passed avay. ihich of the following consequences of the
marital Geduction i< nos n sdvantzge 1o Peer?

€ 5. A8 propeny trat qusiie coss not nur any sstats 1 sty 3t Kare's dest.
€ 5. Petr gets a steppecap basis i he propery.

0 . Petas estat wl now exoeed the applcable exsion amourt.

0 .1t combined e marial deducton it the esate planing 105, they Souk minizs estte 2125 inboth of
rei ssttes.

25 Betty and Bob are marrid. Betty owns 3 vacation home that she would like {0 leave to Bob when she dies.
However, she would ks to put s restition on tis transfer. Which of th following restrctions il s llow them
to make 458 oftne marial eduction?

0 2. Bob's interst n he property terminates afte en years
. Bob's interst n he property erminates if Bob gas remarred

-
€ . Bos terest i the ropary terinates f b fas to soequately mants e proparty
€ G Bos teret i the ropany terminates i he doss not autve Bety by st esst four manths

25,15 second marriage for both Mike and Carol. Using 2 QTIP to pass on property alows Mike to do al of the
Tolowing vcept

€5 Provie Caroluith 3 o the insome rom the propeny forhar Ketime

€ 5 Grant Carol ool of tre it dsposiion of th progeny

€ . Pass e ropany t Mik's i afer Carol passes susy

0 . Alow e propery t be managed fo Car's benefit

30, Bl and Monicatellyou tha they are using 3 GTIP trust 35 part oftheir estte pln. Bl prooseds to explain how
Ewil help them. On which point i he mistaken?
0 2. Most tarminabie ntrest popery doesn' qualiy forthe maral deduction, bt the QTP s an exospton
0 5. Lats say Morica s fst. She contis how the property i uimatey disrbuted,but there's 1o 2x o te propery
st he e of er st
'€ My teest n h propeny temnates when | G, 59 there'snothing e o s on o anyons .
€ & Trersfor, the GTIP s us avor te ssate tox stogetrar. st ht grest?

< Questions 11-20 | Questions 7180
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31, Jos and Juli want to make use of 3 bypass rustto minimize ther combined estate taxes. Jos dies. Which of the
Tolowing sttements s false?
€ 5 Joss i cides s st o o s
05 One part (squal 1ot appicate cedit amount)goss o 3 rst, which wl ventualybypass Jue's estte at her
P
€. Juie canmot ssosss the tust sesets durng e Wi,
© 6. Tos ot ar passes curght o Jue.

32 Fred and his wite, Luanne, ae i ther early 805. Luanne’s ealth i ot great, and she has I knowledge of
finances or property management Fred might consider eaving his property to Luanne using.

€5 ACTP

© 5 Saston ez

© . Terancy by the entrety

€ ¢ Crartase bequest

32, The unlimited git tax maritl deduction does ot apply to Maria and Javier,even though they are legally married.
Vihich of the folowing reasons would explain this?

0 2. Tray were marrd bfore 1558

€ 5 Javeria ot US. otaen

© o Javiris 20 years oidr than Mt

€ & Toey usas up e ifatime it tax xamgton smount n it 1 irer peop.

4. George wants e insurance procseds held under 3 settement opton to quslfy for the maritl deduction. ihich
f the follouing i nos one of e four sondtions hat must e metin order for the prosssds o qusliy?

0 2. The prosseds ar pad i nstaliments f i wie or .

0 5. George's wite has an uvesticted general pows of apponiment over the proceeds.

10 . No one ofter than is it has 2 pows of appointmentover the proceeds

0 . The peric payments ae made avery five yers.

35. Henry has one ohild (Bret) an three grandchildren. He wants to pass assets o his grandohildren without
paying any tax. How can he scoomplsh this tx ree transfer?
02, Place he asses ina st that pays inoome (o ret. When Brettdies, Brett's nerest n the tust wl teminate and
e reminderof th trust il pass to the grandchidren
€ 5. Create a trust withBrtt 2 the banafiiry that aows the randchidren 1 take wihdrands.
0 . Mk et 3t o the randaniaren bt i these gt 1o Heny = hesbie Excuson amant.
0 . Make et gits o the randchiren in any amount.

6. Jerome st toestabish a dynssty trusttha il st s esst 00 yrs. We cannot know f this i possib until
e ko

€ 5. Toe umbar of ansfisrs
0 5. The stte n which Jerom plan toestabish th st

€ . Tos amount of genaraton-skpping ansfer taxes Jerome i wiing 0 53y

0 . WhetherJerom il incude anyons from s own generaon 2 3 benicary
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6 5. Creste 2 ust with 51t 25 the beretioary hat shows he grandchiren 1> take wiharanas.
0 . Mk et 3t o the randaniaren bt i these gt 1o Heny = hesbie Excuson amant.
0 . Make et gits o the randchiren in any amount.

35, Jerome wants to esablish 3 dynasty trus thatwil st atleas 500 years. We cannotknow i this is possible unt
e ko

€ 5. Toe umbar of ansfisrs

0 5. The stte n which Jerom plan toestabish th st

0 . The amount of generation-sipping tansfer txs Jrome i wiing 0 P2y

0 . WhetherJerom il incude anyons from s own generaon 2 3 benicary

57, clent mentions thathe s going to reate 2 dynasty trust.From this, you can gather that he has 3 gl of:
© 5 Praserving ssats
© b Exual dividing assets among chidren
© . Donatng assets t 2 favorte charty.
© . Buyingife nsurance

35, Zeida want to transfer money o her grandehildren. Which ofth following satements sbout hr stuaton is nox
0 2. Zeka has etime examptionof 5,43 millon (n 2015 or ransfrs both during hr e and at b st
05, Zeka can alocate this exempion o 2 pariular ansfe, but such an alocation  ievocable.
0 . Zaka's sister, Carie, has o chden and wont b using th full amount of hr examption. She can pass her unused

exemption amount 1o Zeda.
10 . Zaka 2nd er usband, Jacob, can sec 0 splt  genraton-skipping ransfar, aven i the maney only comes from

20

35 Josephin wants to make gits to her amily members, but i firsttrying to determine when she will ace the
GSTT. She makes thefolowing conclusions about who Selongs {0 what generatin. Which of her conclusions is
wrong?

€5 Sne i th sams genaraton s her husband (sven thugh he's 20 yesrs younge).

0 5. T daughtrs adopted o s teated the same 25 2 biood relaton.
0 . Thanks 0.2 specil i, she o onger has (o skip 2 genraton t give o ar 5on Ptic's daughte how hat Patick

has passed avay.
0. Anyone bom witkin 25 years befoe o aftr Josepine wl be incuded i hr ganeraton for GSTT puposes.

40 The taxable amount of » generation skipping transfr i the valus of the ranste times the inclusion ratio. For 3
nontaxable gt he incusion rato s ahvays
cs0

cuz
coz
can

o

« Questions 21 30
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1. Fatima is 3 beneficiaryto an ILIT and holds Crummey powers. Her withdrawals 3 limited o her proportionate
share of ach annual adaltion to the rust, o the amount of the gt tax exclusion. The trust terms aso provide that
ny sxoecs portion of the snnusl withdrawal right Gos not13peé but insiead s suspended untl 3 futurs fme hen
he spae aan occur within the ve.and-fe ruls imitation. Vinstkind o pover docs Fatma have?

© . Hanging gouer

© 5. Power o sppontment

© ¢ Exuson ponsr

© 4 Progoronate power

2. Julio creates an infentionslly defecive ILIT, and thinks he understands allofthe tax implication. Which of the
Tolowing of Julios belifs is no¢correct?
€ 5. Toe ssets Juko ransfers to th st e consdered completed gfts for faders it o prposss,
0 5.1 Juogives i bereficaries Crummey powes, th tranfars 1o the tust are conidered present nteestgifs and
aualfy for the annal gt ax exusion
€ Toe ssets Jub tranefrs to th trut e xluded from i st fo fadrs st o purposes.
€ ¢ Basause e etsns 3 catsn pouss over e st ssats, Juko il ot b 13X on Sny meoms genarstad by the

42 Vihich satement sbout ILTs s true?
0 2. An LI must be unfunded, meaninganly the e nsurance poly s i the rst.
€ 5 An LI must e fundes, mesning e st e ot e oy 5nd ther sseet usad 0y e,
€ 6. An LI can b siter fundas or unfunded,but one mtnod may b2 more s5vantageous thn e et
€ G An LT can b siter fundas or unfunded, snd t dossn't sffec he rantor s sy,

44 John sets up anirrevocable trust ihat rights doss he have o make changes to the rust i the future?
0 2. Thaonly ting b can change i he benefcary designation
05, He can ramove assetsand repace them wih e assets.
0 . He cannot change the tut,but he can revoke i ntrsly.
0 . He cannot make any changes at .

5. Grea holds Crummey porers in an irevossblelfe insuranc trust (L. She receives 3 lttar from the trustee
notifying her that the trus has received 3 ranste subject 0 he Crummey powers. What is the ypical ength of time
Gret would have to exeeisa thoss powsrs i she chose to 4o 507

€ 5. One yesr

© 5 Tres montns

0o ey

o nays

46, Dariene, s widow,sets up an ILITwith four beneficiaris. She grants them esch Crummey povers. I th gift tax
‘nnual exciusion i $14,000, how much can Darlens shlter from gift tax in annual cash ransters o the trust 1 pay
premiums?

02310
055200
0 o300
04 sizom
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7o would Fave T xereise Tose powers I she choss 1 g6 357
€ 5. One yesr
© 5 Tres montns
0o ey
o nays

46, Dariene, s widow,sets up an ILITwith four beneficiaris. She grants them esch Crummey povers. I th gift tax
annusl exlusion is $14,000, how much can Darlens sheltr from gift 3 in annual cash transfers o th frust o pay
premiums?

© 5514000
55200
o s
©asizon

47.As Fred and Wilma describe how their QPR work, you notce ons glaring misstatement and feel the need to
correetthem. Which oftheir statements 1 incorrect?

02, We plced our home into st forour chidren”
€5 We can make changes 1o the st any time we want”

€ 6. We can contns 1o hve i e house durng re yesrsof s tust”

€ G "Aftr th st e s over, e s 52 ey d et us ke g n th houss, bt egaly we'dnave fo gy them
-

48, Paul v realestte in severa ifferent sttes. He transfers il ofth re estate ino 3 revossble fiving trust.
Wikt il be he main bensfit of this planning techniqus when Paul passes auay?

€ 5. Tos propeny i i stte of residence wil 2104 probste,

€ 5 A1t propats n th st il svoid prtate i ek respce Sttes.

0 . The estate wl v paying etate tax on al propertes i he rst.

0 . Tha propertes wil ramai nth st unmanaged,unt dtrbuted nder th tems of Pauls Wil

45, Zaina owns 2 number of propertes snd would like o put o ofthem into GPRT for her chil
o her personal residence, which of th following could Zarina place into 3 GPRT?

€ 5. n offics tustng

€ 5 A tuo-famiy aparment rntl, rened by the same o famies or e past feu years

€ . A vacation reta that Zanns uses for erse a few wesks £5ch yesr

P

50, Vitor would ke to use his own home tofund 3 trustfor his children. Vihich type of trust should he choose?
© 5. GRAT
o5 GRUT
o o.ceRT
caur

 Questions 3140 | Questions 5160
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1. Thomas isthe legal tteholder o the sssets in 3 rust. He can exercise most of the ususl rights over th trust
assets (such 35 buying and selling asses) but he cannot actin is own interest. This means that Thomas I the
© 5 Guantor
© 5 sanstoay
€ o Tse
© ¢ Exsaer

2. Wihen one says that 2 trust can be 3 "shel” during the grantor's Ife, it means tht the rustcan be:
© 2 Fuly funded
© 5 inevonste
© o insotee
© . ntntonaly gefestve

53 Xavieris sefting up 2 QPR He wants the taxable gift he's making tothe bensfiiares to be 35 ow 3s possible.
Vihich ofthe following formulss sceurstely explains how he should seect he ength of the trust term?
© 2 Longertem
© 5. Longertem
© ¢ Snorertem
© 4 Shorertem

areser o of rtaned ncome terest = ouer txabs it

Iouer value of retanes mcoms nerest = igner txab 1t
rester vahe of retand noome ntrest = oue (3 gt

rester vake of retsnad moome ntrest = hgner 9xab 3t

4. A revosable living trust is  good vehice to use for:
€ 2. Gainingtox sdantsges urng the grators e
€ b Ganng tax gvantages st te graniors dssth
€ . Mking th grator scsetGisttuton ogen to it nspecton
0 4. Avoiding prote on assts ansfered into the st during e

5. s Opl describes al she can do 25 the grantor of 2 revocable ving trust, you ofice that she has one glaring
misconception. Which part of her xplantion fs wrong?

€ 5.7 cotrol e isposton of e st sssats though te st tems, S 9 3wl

€ 5,11 | becoms incspactate, he st can manage th ssssis m he st for .

0 6.7 coud nave my siomey prgare an Smendment o 1 st Bt | woud Pave 1o Ry 3 8 pEnaty.

€ 6.7 san revoke the st nd rasem th ssssts f an emergency ares.

5. el is the truste for 3 revoeableliving trust. She can do allofth following exospe:
€ 5 nvest st sssets
P —
0 . Exerise most ights over th st asses inthe nerest of he benaficiaes
0 . Change the tams o the st

7.1 Maran wants to establish 3 trust now, and wants the abilty to modity that trust during her e, which one
“hould she choose?

€ 5. A mevosave st
5 Arevosbie g st
© ¢ Atestamentary st
©aar
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55,45 Opal describes il she can do as the grantor of  revocable living trust, you notce that she has one glaring
misconception. Which partof her explanation s wrong?

€ 5.7 cotrol e isposton o e st sssats though te st tems, Sar 103wl

€ 5.1 | becoms incapacitate, the stes can marage te sssets n s st for me.”

0 6.7 o nave my stomey prere an Smendment o th trst, Bt | oud have o Ry 3 x pEnaty.”

€ 6.7 san revoke e st and resam te sssets  an emergency srses.”

55 Nelle i th trustee for 2 revocable Iving trust. She can do 3l of the following except:
€ 5 nvest st sssets
P —
0 . Exerise most ights over th st asses inthe nerest of he benaficiaes
0 . Change the tams o the st

7.1 Marian wants to establsh a rust now, and wants the ability to modifythat trust during he e, which one.
“hould she choose?

€ 5. A mevosave st
5 Arevosbie g st
© ¢ Atestamentary st
©aar

55, When Jed wanted to create 3 rust, h took thefollowing actions. What s the one thing he did right?
€. i crsted i st witnout e hep of an stomsy.
€ b i datermnes tht th banefioans woud 2GSV e st incoms pRyout, and ol ventuly receive the

prngalunen te st eminsted 1 som unsgecad tme i 0 futre
"ec i saected e anatisanes.
0 . He made 2 veral st ageement by going ove he specfios with s chosen beneficares.

55, Marlecs grandmother gave him gits under custodianship. He is 10 when his custodian dies, and his
arandmother did not ideny 3 successor custodian. What happens?

€5 M shocses 2 e sutosan

0 5. Mars quaran becomes the e ustodan.

0 . A tustcompany akes over 2 custodan

0 . The custoda it a pass o Marek sary, beoaus e 1 he custodian roperty vasts with K.

0. clent who wants to make 2 gift o her son. Bobby. says o you, “Let me see f Ve got this straight~ She
proceed 1o explan her understanding of custodianship undsr UGHA. On which point s she mistaken?

€ 5. Tre custosan's dutes sr ik troseof 3 tnstes.”

€ 5.7 s oun e ropery -

10 . "Butf Boby ies before thecustoial arangement ends, the property wil b included n i esate”

0 . The custoal arangement ends when Botby tums 21, sinos thas the 3 speciied by our tate aw”
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1. Ethy ives in Vermont and wants to make gifts to her minor grandehildren under UGHA, This means that she will
be ransferring property to her grandhildren by means of what ype of srrangement?.

© 5 Custosansnp

© 5 Guargansng

© o Ougntt

€ a st

2. Which statement i false?
€5, UGIEA 373 UTHA were roposes 1o overcoms th probies Ss265tedwih mking s 9 minrs.
0 5 UGHA was proposed n the 19505 UTHA i e 15605
0 . UTMA provides greter atud and mor flecbiity than UGHA regardingth Kinds of popery that can be
e 1 mnors
€. A has been adopted inevery sate, competly repacing UGHA

3. The kiddietax applies (0 all o the following except which one?
€ 5 Josn, uno = 17 yesrs o
€ 5 Mary, who = 150 2nd hoss ssmas incoms ke up sboutone qusre of h oun SugpOT.
€ G Soat, who s 20,3 futme student, snd uhose samed noome makes up sbout v hd of i G SuppT
G Mo, uno 5 25, 5 bt student, nd uhoss s3med nsome makes up st nder hl of h oun sugpor

4. Mason is 3 family business owner with th folowing needs: maintaning sole ownership of the business,
redusing gt and estate taxes, ensuring successor business ownership, and transfrring faily wealth. A family
mited partnership vl Slow him 1o meet il of nese néeds &xcept which one?
© 2 Mainaning soe ouneship
© 5. Reducing gift and state taxes.
0 . Ensuring succassor usiness ownerhip
© . Trarstering famiy wealtn

65, business entity with one general partner and ive lmited partners i cal
© 2 Geneal partersip
© b Limied parvarship
© o Conoraton
€ o Comtas ity sompany

65.Cherylpartcpates n the profits o fanily limited parinershiy
s whe?

© 2. A general parer
© 5 Alted pamar

© o an ndependent investor
© o Asestor
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© b Limed parvrship
© o Conorton
€ o Comtas ity sompany

86, Chryl prticipates inthe profits of a family limited partnership, but dossn' have 2 voice in management. Wht
s whe?

© 2. A general parer
© b Almted parmer

© o n dspendant investor
© o Asestor

7. Stewart explins to you that is amily created an FLP in order toreduce the annusl income ta burden. How
doss an FLP do this?

€ 5. By making use of minorty nerest dsounts
€ 5. By ramouing te busnass fom tre ssates of famdy mambers

0 . By rewaring famiy members who are active i the usiness

0 . By spitting th camings among severlfamiy members, som of whom wil kel not be i the top federal x
skt

58. Jezebel and Mike went through an scrimonious divorce, and the court awarded Mike's nteret in his family's FLP
L0 Jezebel. A5 3 et any of the following scénarios could nSppen xoepe
0 2.1 s0 provided i the FLP agreemen,the athr parters il purchas th infret fom Jezeblat s i markt
vae,
€5, 150 provided in the FLP agresment, Mike wl purchase he interest from Jezsbel at 5 far market vale.
€ . Dapening on the FLP sgresmen, th transfe il foroe Sther 2 G3soiton or (eorganaston o e parnerh.
0 . Jezeb wil automaticaly becoms 3 generalpartver i the FLP, able to make management decisions.

85, Vihen you ssk your prospect, Rhonds, sbout business sucssssion planning, she answers that she has plan in
place and has aiready purchased lfe insurance in conjunction with tht lan. iich of the following could not be
‘on ofthe ways in which Rhonda plans t use that e insurance?

© 2 ey parson

© b Spit dolar

€ ¢ Exesutve bonus srangemant

© 4 Dynasty st

70. Karen wants to know how mh her transferred FLP inferests wil b discountad, ncluding both th lsck of
marketabilty discount and the minority discount. She can ssely 3ssume 3 tofl discount of

caan

cnwn

comn

0 . Ste cant assume anyting-hers s o acospied s of thu

« Guestions 5150 | Questions 71 75 »
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71 Mike tells you he has informed his family that i he ha a erminal lness, he doss ot want any e sustining
reatment. However, you know that eling his faily is not enough. and you recommend that h creat:

€5 aw

© 5 Atng

0 o Algal commity eatment drecive

© 4. Afe sustaning stattory deotve

72.Osear hasa living will and 3 durable power ofatorney forhealth care. St i faily and i
doctors may not fully undsrstand his ntentions and wishes regarding the terminaton of I support under certain
ircumtances.In order to clary, Oscar could ereste 3
© 5 ados grsue
b wa
€ . Drsst consaming organ dorston
& Wrten sffmaton on mienentons

75, What s 2 durable power o atorney or healthcare?
0 2. A witenaffimaton ndiating tht th testalr has the capacty 1o execte 2 il
0 5. A document that rants 2 delegation of medialdecon-maling powers 10 3 2gent.
0 . A document that designates 2 prson to marage a speific bark acoount.
© . The powe o represent he exacuor i sta tansactons.

74 Norais concerned sbout what wil Rappen to her if she becomes incompetent and unable (o make her own
madical deciions. Sh créstss  heslth care power of orney. which gives her shosen sgent sl of e following
powers axcept.

€ 5. Toe powe o remove oneof Norss ysians.

€ 5. Toe power o have Nor cscrarged aganst medesl sduie

0 . The powe o open or ose a bank acoount n Nora's name

0 . The powe o btain aooess to Nora's medical records.

75_Penlope s elderly and poor. Sheis having trouble paying her medical expenses. She wants {0 3pply for
Wedicaid bt 1 st frying £ igure outwhich of her asees 3¢ emp. Which of h following of Penelope’s sssets
would not be sxempt?

€ 5. Cash vaueife msurance it 3 face vae of $1.000

© bt fumire

. i s stosk porfoic

© o rarnome

« Questions 51 70 | Grade Exam
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1. When Ron Neumeister did, he had 3 House jintly owned with is wie Susie, 3 car in his name only. 2 stock
portilio and 2 sollsction ofrare coins. Which of these Hem would ot pass under his vt

€5 Trenouse

& o Theoe

€ . Tre stock pnioie

€ ¢ Tre som cotectin

2. When Martindied, he had income in respectof  decedent IRD). The IRD asses are ot subjectto estae tax fhe
recipientis:

s —

€ 5 arins sy fane.

© o usnnz e

© o Martn's young caughte.

5. George and licia have tuo daughters, one of whom i disabled, and 3 nephew t whom George promise i
valuable basebal cad colletion. However, George never mad 3wl Il George dies, which of the fallowing vi
happen?

0 2. No materwhich statethey v i, A wil automatialy recsive the ene estate.

0 5. The special needs otk il automatialy recsive 2 reter share o th estate 1o rovide orher increzsed health

care expenses.

0. George's nephew wil automaticaly reosive the baseball ard colectn.

€ . The coun-appinted dminitato wldisriute George's asses based ony on famdly relatonsips.

4 Anete'ssister, Brbrs, passed away, snd Annsts is challenging the valdity of her sisters will. We can assume.
hat the bass or Annetts's anllenge could be any of th following except wich ons?

€ 5. Baroas was 3 mior when she made et i

€ 5 Annete winessed Barbars = hushand sxert undus influence over th crston of he il

€ . Barbaa 52 not eavs snytng t Annate, Sven though S & anitedfo 3 potn of harsisters sstte.

€ . Annate bebeves tat Bauars s rotof Sound i when 2 mad her il

5. Which of the following is nos  method of property ownership i the U.5.2
© 2 Sak, outight ouneship
€ 5 Jot tensnsy with rgpts f sunivorshis
© . Incorperated tenancy.
€ . Commanity propary.

. Simone is none too fond of her son's wie. She gies her Iake House to hr son, but with the proviso that she wil
get the property back fher son predeceases her. Vihat i this arrangement called?

© 5 Areversonary merst
5 A futrs et

-
© o Aite mest
0 4. An apporionad interest
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e of e Tollowing 1 o melhod of property ownership in e U 5.7
© 2 Sak, outight ouneship

€ 5 Jot tensnsy with rgpts f sunivorshis

© . Incorperated tenancy.

€ . Commanity propary.

. Simone is none too fond of her son's wie. She gies her Iake House to hr son, but with the proviso that she wil
get the property back fher son predeceases her. Vihat i this arrangement called?
© 5 Areversonary merst
5 A futrs et

-
© o Aite mest
0 4. An apporionad interest

7. ThreefriendsJenna, Kyle and Lor-purchase 2 threefamily home in the Boston area 25 3 oint tenancy with rights
of survivorship. When Jenna die, which of the following il Rappen?

0 2 Kyl and Loi st se Jemn's share 1o 2w ouner.
€ 5. Jannas shae of e property passes 1 he pason she named nherwil.
0 . Jannas shae of e popery passes automaticaly o Ky and Lo

0 4. The property convers 03 tnancy by the entrery.

. Mike, Molly and Wegan own propert together Mike owns S0%, and Wolly and legan each o 25%. When Holly
ies her 25% property ntrast pacees o har niscs under ner wil.Which form of property ownership o they have?
© 2 Tenancy by the entraty.
€ . Joint tensnay wih s of surivorshis
0 ¢ Terancy in common
€ & Commanity propny

5. Giftspliting:
€5 Doss not requre th fing of 3 gt et
0 5,15 avaabefor any individal making 2 it
0 .15 only avataie to marrd coupes
0 . May increase the tax rate i he it exceeds tios the anual exclsion amount, because the g 12x rates g0 up
hen mre than one person s dong e gving

10.Tim ouns an insurance policy on his own Ife with his son, Bob, named as beneficary. e gifs the policy to
Bab. Wihich of the following ststemnts is noerue concerning this situation?

0 2. For gif tax purposes, te oy’ vale s apprimated by the cash value, ot he death procesds.
015,11 Tim s within tvee years of giting he poly. te prooeeds il s be nckuied i his gros estate

€ 1f Tim contnues 1o make pramium payments ater gfing the poicy, Bob il not recsive 3y of he rocesds.

0 .1 Tim continues tomake premium paymns ater gifing th pocy, those remium payments wl be consiered
o,

Questions 1120+

[Pystart| (@ FsD 3.5 -Branch anag... | @ JPMorganChase - Win... (1] Document1 - Micosoft





image3.png
=181x|

; hase.webce.com TestSmart/ 115,250

Edt Vew Favorits Toos Hep

Review Exam i .y A

10 | 120 | 2130 340 4150 5160 6170 7475

1. Which of the following satements is flse?
0 2. The foderalgif s par f o tanster tax system.
€ 5 Toe it o 3 akstop o o astte e
0 . Wihout he it ax, paope coud eaty avod the estae tax ihrough iftime ifts.
0 .1t impossib o give away property without paying sither he it tx o estal tx.

12, John wants to mke 3 it o his son in order to cover his collage tuiton. I thre 3 way to make this gift thatis
ot subject t the federal gift ax?

0 2. Yes, be can pay he tuion dect 1o th school on behalf o s son.

05, Yes, be can give the mney tois son-gis use forsducational purposes are exempt from the gif 2.

0 . Yes, but nly f e places the money nlo a st

€ 6 No. trae & no sy 1o 21 paying e gt 9 on 8 it

13 Jason giftd his lfe insurance policy to his son, David. However since he was worried about money. he kept the
ight o borrow against the policy. 3 wel 25 the riht o surrender the policy for cash. ihen Jason died o years
ser were the insurance proceeds included in his estie?

€ 5. Ves, bacause he i mcidents of ounersns,
05 No, because heanly hek two incidents of ownershi, and  akes thrs o bing the proceeds back nto the gross
€. No, basause s any hei he nsidents o cunarsh ortuo yesrs nstsd of .
€. No, because henever exeroised s ghts o borow against or surendar th polcy.

44,1 2009, Jusin gave his daughier, Peg. 3 policy covering his lfe, but etsined th right to borrow again the
poliy. In 2013, he ealized that tis was 3 incident of nership, 50 he ransferred the right {0 Peg. Justin died in
2014l anything be ncluded in Jusins gross estate?

0 2. No, because he it hokd any incidens of cunerstp a he i of i death.
05, No, because h tansfared aunarship o th pocy o Peg over tree years 30

0 . Yes, some of the procesds wilbeincludd in i esate, proporional 10 th singe ncident ofounarstp b hek wthin
trvee yeas of his death

00, es, the nire proceeds wil be inchuded in s estate.

15.ed ouns  condo near sk resort, which he gl to his daughier Marjorie on her Oth birthday. ihich of the
folowing powers o interésts may Ned reain and nos ba rested 3 th property ownar for fecaral esite tax
purposes?

€2 Toe gt 1o gt e ropary Sack i Mator edscssses him
© 5. Tha right 1o visit e popery.

. Toe gt 1o conto now and when Mriorss uses th propeny
€ & Trerigt 1o renta mcoms from e gy
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15_ed owns 3 condo near sk resor,which he gifts (o his daughiar Marjorie on her 0t birthday. ihich of the
folowing powers o interésts may Ned reain and nos ba rested 3 th property ownar for fecaral esite tax
purposes?

€ 2. Toe gt toget e popary back f Mator predscesses him
© 5. Tha right 1o visit e popery.
. Toe gt 1o conto now and when Mriorss uses th propeny
0 4. The gt 1o rental incoms from te poperty

16, Which statement i 7ue concerning deductions from the gross estate?
€5 Toe st tox il deduston nd te Ssate tox hartabs deducton st ot uniies.
0 5. Onty the estate tax marial deduction s ukmited
0 . Only the estae tax chartable deduotion i unmited.
0 . Thare is 2 comiined i that appies to both the martal and chartable estae ax deductons.

17.Brian wants cash to be avalabe to pay estae costs, but dossritwant his insurance proseeds included in s
gross seate, Can he manage this?

€ 2. Yes, by making he poicy payas o the siste
€5 Yes, by maling the pofcy payable o 2 speciic raditor t pay o 2 bt

€ . Ve, by miing the oty payabi o 3 rustes who s Suhoraed to purchase Sstate ssts 33 fa prie
€ G No. the msursnce sosssts il shiys b2 mouded i s gross ssate

15, Lara had built up quit 2 successful florist business over theyears, and she wanted her daughter Emily 0 buy
the business at 2 discounted price. n attorney drew up the purchase sgreement n 2011, When Lara passed uay in
2014, wihy 6 the IRS sragard t price et when valing the closely held st for Estte 13 Purpasss?

€ 5 Itss ot s bors e businass srangement

05, Lara use thepurchase agresment 25 2 way 1o tanstr he business to har daughter for ss than full and adequate

sonserton

0. Tha IRS only ses thepriosse n purchase agreemns drawn up by IRS-sanotioned aomeys.

0 . Tha IRS only uses thepri fom a purchase agresment i it s been dra up within 2 yaar o the owner's deah

15. Harik died, laving the amily farm to is son and daugher. The farm iself made up 70% of Hank's gross esat,
and theestte tax labiity was 5o arge that he son and daugher could not pay it without selling the farm. Which
Secton of the IRC could help them in this situation?

€5 Saston 302

© 5 Saston 401

© . Saston 1080

© o Satonerzz

20, Wihen Bos's father ied, they used the special use valuation for the family farm. Seven years latr, Bob decides
farming is not fo him and he sals the family farm to 3 neighor looking {0 expand his 3creage. Wil this ffectthe
special use valuation?

0 2. No, more han five yeas have passed

€ 5 No. Bob gt 581 10 3 famiy mamoer.

0 . Yes, Bob s autsidsth famiy withinten years, 50 the IR canrecaptrs th taxbenefs of he specal ise

vsiaton

€ G No. bacause the one-yer repesl of re fdrs st tax trminted e sty of e RS to recsptre any tax

iy,
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